Predicting Whether a Precipitate will Form

« when two solutions containing ions are mixed,
there is a possibility that a precipitate will form

> if [ion] = 0.1 M, a compound with low
solubility will precipitate

> if [ion] < 0.1 M, a calculation must be done to
determine if a precipitate will form

« a TRIAL ION PRODUCT (TIP) calculation is
required to determine whether a precipitate will
form when [ion] < 0.1 M

For the reaction:

Ag,COy(s) = 2Ag'(ag) + CO; (ag)
the trial ion product is:
TIP = [Ag'TF[COs*]

TIP > K, then precipitate

TIP = K, then solution is saturated, no precipitate

TIP < K, then solution is not saturated, no precipitate




Q. If the K, for PbCl, is 1.8 x 10, will a
precipitate form when 200.0 mL of 0.015 M NaCl
is mixed with 100.0 mL of 0.60 M Pb(NO5),?
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1) Will a precipitate form when 25.0 mL of 0.15 M
AgNO; is added to 15.0 mL of 0.20 M NaCl?
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2) Does a precipitate form when 3.0 mL of 1.0 x 103 M
NaBr is added to 2.0 mL of 1.0 x 10° M Pb(NO,),?

Pb(br), = o2+ 2807 K50= 0.b*10 ©
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3) Will a precipitate form when 90.0 mL of 1.00 x 10* M
Cu(NOs), and 10.0 mL of 1.00 x 10? M NalOs; are mixed?

2 S B - ] -3
LAT0y, = 2T 2105 Kepb o

12
o) poowroons?w) 7P EwrAL0Sd

I00.0M - ) oond®)
= 0,00 *102M (o X
- g.p0x10" 1
105) - (100mLy (] 00xO#M )
L1053 (m’o‘oml} TIP L KSp
©L0OMO2M Do ppt

4) Will a precipitate form if 30.0 mL of 0.054 M Ca(NO:s), is
mixed with 60.0 mL of 8.1 x 10* M Na,SO,?
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